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Multiply 4-digits by 2-digits

@ compiete the muttipiication.
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© Tommy s colculating 1,234 x 26
a) Complete his working out.
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b) Fill in the grid to check Tommy’s working is accurate.
You may use place value counters to help.

© Fosie i colcuiating 2501 x 42

Here is Rosie’s working.
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@) Rosie has made two mistakes. What are they?

b) What is the correct answer?

© Work out the muttiplcations.
@ 4288x23

b) 2,142 x 46

What do you notice?
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could have worked aut the aner?
e ) Wite our answers i ascending order
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Whitney scores 2,512 polnts every game for 24 gomes.

Wha score more paints?

How many more?





